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QUESTION 1

The pepd and pdpd daemons are used by which Software blade?
A. ldentity Awareness

B. DLP

C. URL Filtering

D. Application Control

Correct Answer: A

QUESTION 2

How many layers are incorporated in IPS detection and what are they called?

A. 4 layers — Passive Streaming Library (PSL), Protocol Parsers, Context Management, Protections
B. 3 layers — Active Streaming Library (ASL), CMI, Protections

C. 4 layers — Active Streaming Library (ASL), Protocol Parsers, Context Management, Protections
D. 3 layers — Protocol Parsers, CMI, Protections

Correct Answer: A

QUESTION 3

Which of the connections cannot be accelerated with SecureXL?

A. Every NAT\\'ed connection

B. Every encrypted connection, such as HTTPS or SSH connections
C. Every connection destined to the Security Gateways

D. Every connection through a rule using a time object

Correct Answer: A

QUESTION 4
Of how many packets consists Main Mode in Phase 1?

A. Three packets
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B. Four packets
C. Six packets
D. it depends on the encryption algorithm used. 3DES has three times more packets than DES encryption

Correct Answer: C

QUESTION 5

What occurs when Bypass Under Load activated?

A. Packets are forwarded to the destination without checking the packets against the firewall rule base
B. Packets are forwarded to the destination without performing IPS analysis

C. To still ensure a minimum level of data integrity, the system revert to the use of MD5 instead of SHA-1, since former
produces an output smaller than the latter

D. The amount of the state table entries is decreased according to the LRU (least recently used) algorithm
Correct Answer: B

Reference: https://scl.checkpoint.com/documents/R76/CP_R76_IPS_AdminGuide/12750.htm
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